Warm Up

1. What is the formula for Pythagorean Theorem?
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Solve using the Pythagorean Theorem.
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3. What is the formula for the >e< of a Triangle?
Find the area of the triangle. E— 6&
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Review of Radicals
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Pythagorean Theorem
ONLY WORKS FOR ri\@YH' ’hIMﬂU\S

The Pythagorean Theorem says...
2 2 2
A + \O = C

There are two ways to use this.....




1. Find the missing side.

Find the unknown side lengths. Simplify radical answers.
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2. Determine whether or not it is a right triangle.
If c2 is equal to a2+ b2, rif’/\"H WIMQL*-
If c2is greater than a2+ b2, oW S ‘MN\jkﬁ—
If c2is less than a2+ b2, acute /iﬂmﬂu\

Classify the triangle as right, acute or obtuse.
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Area of a Triangle

1. What is the area of a rectangle?

b-h

2. Draw a diagonal in your rectangle. L

3. How do your triangles compare to the rectangle? ho\(,F

4. So what is the area of your triangle?
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Find the area of each triangle.
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Find the missing length of the triangle.
D 3.
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9. ERROR ANALYSIS Describe and correct the error
in finding the missing length of the triangle.
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: 10. TRIPOD The center of the tripod forms a 90” angle with
the ground. Find the length of the support leg to the
nearest tenth of an inch. (_O "73 \ = Z (92 g

Tell whether the triangle with the given side lengths is a right triangle.
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Find the area of a right triangle with the given leg (L) and
hypotenuse (H). Round your answers to the nearest tenth.
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